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HW?2 Rubric

2) 12 pts
-- 2 pts per part

3) 8 pts

--a) 2 pts

--b) 2 pts

--¢)1pt

--d) 5 pts, 1 per question

4) 13 pts

--a) 6 pts: 1 each for gm,ro,Av for both PMOS and NMOS

-- b) 5 pts: 1 pt for Vth for each (2 total), 2 pts for quad/velocity-sat, 1 pt for why
-- ¢) 2 pts: 1 pt each for NMOS and PMOS slopes

5) 6 pts
--a) 1 pt per curve (2 curves, Vgs=0,1 are off), +1 getting vdsat in correct spot
-- b) 1 pt per curve (2 curves, Vgs=0,1 are off), +1 getting vdsat in correct spot

6) 8 pts

-- 2 pts per part for getting shape of curves correct (linear, quadratic, etc)

54 pts total
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